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5. ZW 'J1R '9-f@cfiJ W IJJIJ,Sr J1 fr- S. This question booklet is divided into

two sections - Section-A anct
ao.s--31 '(!c/ &os-if I 

6. · !flO:S-\R if 70 4tfJAl:i:? rtR f, Pt-14' 6· 

"fr (?$�' 35 "ITRf 'FR '3rfr �
�Ac:114 t, 3s m·" ,3M" q;r

� # W' � 35 7$T eft SJ.<'"4ir:h➔

mr, Ji<'i!/cfj c1i' ff;rr[ 1 � � t,

Q➔cfi, 3rf?" # 'cf>' fffl{: d4Hat Ch04 1Tl[
. . 

OMR 3"?"-� '11 � TT7[ "f1eft {q?:fjr-4 
q;r � / m"ffl'R� WTTrf q;t, 
MM s/1- J1q;u ;i;- a1$e➔f I 'fffff 
TR'ref I m- / ➔ltf/.➔ � '<1i1' OMR 
'3n1'-Q;i/qj 11 R4}11 ci>?➔I '11':fT t, 

� 'tRT1N1 qfio11q .3;q1;.q � I-

7. � - if 11 20 M1j 3it:/J4 'RR' f I 7. 

Rr<!ch cl>� 2*-ti�t, M➔4

* Fe,;-tr 10 w:r1 "lli1' 3'fR' rn

a,P,41,l t I � .:HfrtR ffi ff{ � '17
6 M 3dfl4 'R'R fi:?f 1771" f, J.l('t/q,
* Rw 5 � � t, p,..,4 #

M�· a 'flRf '<1i1' � ro �A<:114

t,

Sectlon-B. 

In Section-A, there are 

70 objective type questi!'�, "!'t
of which any 35 questions a,_
to ·be answered. If more than
35 questions are ansU!ered, then
only first 35 will be evaluated. Each
question carries l mark. For
answering these darken ·the circle 
�ith blue J. black ball pen against 
the correct option on OMR Answer 
Sheet provided to you. Do not use 
whitener / liquid I blade- I nail 
etc. , on OMR Answer Sheet, 
otherwise ·the result will be 
treated invalid. 

In Section - s,·. there are 20 short
answer type questions. Each 
carrying 2· marks, out of which 
any 10 questions are to be 
answe�d. Apart from these, there 
are 6 long answer type 
questions; each carrying 
5 marks. Out of which any 
3 questions are to be answered. 

8. Fc,;--m- W:fil7 � $Hi:/e/Hcl> 3QCh<O/ cfif 8. Use of any electronic appliances is
'fTZlTTT �01rl2/J c/Mrt f I strictly prohibited.
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lsfOs - at / SECTION · A 

Question. Nos. 1 to 70 have four optio.ns, out of which only one is correct.

Y-ou have to mark y�ur _selected option, on the O�R_ Sheet. Answer any
35 questions. 35 x 1 = 35 

1. f";iJ...{fi?tfuja -ij � 'QTg �l-'4l'"4d: � �-ij iTTm � �?

(A). Cu 

(C) Al (D} Fe 

Which of the following metals is generally found in free state ? 

2. 

(A) Cu

(C) Ar

f.:IC1�f@a -ij cnt.T q;?.R � t ? 

(A).. � 31�Bf; @A-ii t

(B) � @f.l� �(-cf, � 

(B) 

(D) 

(C) 
� tgf.1-il 3ltl{<f) � m ��di t

(D) 

Au 

Fe 

Page 3 / 32 
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3. 

4. 

Which of the following statements is true?

(A) All ores are minerals

(B) All minerals are ores

(C) A mineral cannot be an ore

(D) An ore cannot be a mineral

[ 118 J. 

�'-1if1ftict tilg3TT "q �ti� f:t&fi�OI "q � �lg<6i:f cf;T 344111 m-aT t ?

(A) . � (B) m

Electrometallurgical process is used for the extraction of which of 
the following metals ? 

(A} Iron (B) Lead

(C) Siiver (D) Sodium

�eij � 31ffi-3lWT mg�� i, � � �

(A) ��l1$l (B) �cl-11

(C) 41�ll�l (D) � q1�<i�l

An ore having two different metal atoms is ·

(A) Haematite

(C) Magnetite

(A) 

(B) Galena

(D) Copper pyrite •

(B) 

I 24 / A/XII-5005-134/40) I Page 4 / 32 • 
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6. 

7. 

8. 

\Yhich of the following elements has electronic configuration 
2 2 1ls. 2s 2px 2py1

2pz1 ? 
(A) Oxygen
(C) Nitrogen

(A)� <11$�<6 �i¾l�s

(C) :S1�41��-it4 �,jiliffi1$:S 

(B) Hydrogen

. (D) Fluorine 

· (B). -11�� ,jilffll�s

(D) Sl$'1i��sifi qllffl($S

Which of the following oxides of nitrogen is called laughing gas ?
(A) Nitric oxide (8) Nitrous oxide
(C) Dinitrogen trioxide (D) Dinitrogen pentoxide

(A) 0 - 0
-

(8) S - S

(C) Se - Se (D) Te -Te
Which of the fallowing has highest bond ene_rgy ?

(A) 0.-0 (B) S-S

(C) Se-Se . (D) Te-Te

Ni (CO} 
4 

'q Ni c#a 3iliffilcf>(OI � i

(A) 0 (B} 1 

(C) 2 (J>} 4 

The oxidation state of Ni in Ni (CO) 
4 

is 

(A) 0

(C) 2

(8) 1

(D) 4

j 24 / A/XII-5005-(34/40) I 
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- . · [ 11s 1 
9. . -if�4 � -ij f.rI;f-ij lf (4,ijcfil � � -ql("\cfi� ffi 3Titfcli t?

(A) [ Pt(NH3)6 JCI4

(C) [ Pt(NH3 )4 CI2 ] CI2 

(8) IPt(NH
3

)5Cl )Cl
3 

(D) [Pt(NH
3

)
3
CI

3 
JCI

Whic� of the following has the highest molar electrical conductance
in aqueous solution?

(A) [ Pt(NH
3 

)6] Cl
4 (8) [ Pt(NH

3 
)5 Cl ) Cl

3

(C) [ Pt(NH
3

)
4 c� Jc� (D) [ Pt(NH

3
)
3 

Cl
3

] Cl

10. · K3[Fe( CN)6] � IUPAC � t

(A) · 41l�14q q,{le14� 1�:s (8) <n��14q q,{}ell441�s

(C) crll�14q g<ffilij14-<l<h{l (II) (D) 4'1l�14q g<R1 lij 14"11q,{l (III).

The IUPAC name of K
3

[Fe(CN)
6

] is 

(A) Potassium ferrocyanide

(B) Potassium ferricyanide

(C) Potassium hexacyanoferrate (II)

(D) Potassium hexacyanoferrate (III)

11. Ru.1fti"1 B12 -ij � � �

Vitamin B12 contains

(A) Cobalt

(C) Iron

JD)

(B) Magnesium

(D) Nickel

j 24 / A/XII-5005-(34/40) I Page 6 / 32
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(/\) 3 

(C} 4 

(B) 6

(D) 5

The coordination number of N� in [ Ni (C2O 4 b J4- is 

(A) 3

(C) 4

(B) 6

(D) 5

(A) 1-#110-2-q�H � (B) l-#11il3ti$elq�-1

(9 l-#<10-3-q�H � . (D) � � � � 

CH3

The IUPAC name of CH3-6H-Cf½-Cf½Cl is· 

(A) l-chloro-2-methyl butane

(B) 1-chloroisopentane

(C) l-chloro-3-methyl butane

(D) None of these

:4. C2H5Br +NaOH ➔C
2
H

5
OH +NaBr f.\, .. if�f&d -ij � S4cfil( cf;t 

(C) (A) 3ill (B) c:);n

( 24/A/XII-5005-(34/40) j Page 7 / 32 
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16. 

[ 118 J 

C}IsBr +Na0H➔C
2
H

5
0H +NaBr is an example of which of the

following types of reaction ?

(A) Electrophilic substitution

(B) Nucleophilic substitution

(CJ Both (A) and (B) 
! . 

(D) None of these

(A) H
3

P0
3

. (B) H
3

P0
4

(C) HP0
3 (D) H

4
P 207 

Which of the following is the molecular formula of Orthophosph?ric 
acid? 

(A) H
3

P0
3 (B) H

3
P0

4 .

(C} HP0
3 (D) H

4
P 20

7

XeF 
4 

cfit {-l{,EHI � i

(A) b i:-.1tllSl.f,<:14>) 4 (B). 3U!'-h{1 ch) 4 

(C) qlfdRl4 (D) ����-

The structure of XeF 
4 

is 

(A) Tetrahedral (B) Octahedral

(C) Square planar - (D) None of these

I 24 / A/XII-5005-(34/40) I 
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(A) I (B) Br

(C) Cl (D) F

Which. of the following halogens does not exhibit a positive 

oxidation state ?

(A) I (B) Br

(C) Cl (D) F

Which of the following has the smallest bond angle ?

(A) Mg2+

(C) y 3+

(B),, Ti 3+

(D) Fe
3+

Which of the following has maximum number of unpaired 
electrons? 

(A} Mg
2+

(C) V
J+

(B) Ti 
3+

(D) Fe 3"'

[ 24 / A/XIl-5005-(34/40) I 
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22. 

23. 

(A) + 2 (B) + 3
(C) + 4 (D) + 6

The maximum oxidation s.tate of chromium is

(A) + 2

(C) + 4

(A) 0

(C}/ 2 

(B) + 3

(D) + 6

(B) 1

(D) 3

The number of unpaired electrons in Cu 
2

+ ion ( z = 29) is

(A) 0 (B) 1

(C) 2 (D) 3

(A) q;.i� (8) .:ii4ctar

(C) � (D) 
• 

1TTffi � 

Isotonic solutions have the same 

(A) Density (B) Normality

(C) Strength (D) Molar concentration

(A) 48% HCl (B) 36% HCl

(C) 22·2% HCI (D)/ 20·2% HCl

[ 118] 

,, 
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25. 

An azcotropic mixture of H Cl and H 
2 

0 has 

(A) 48% HCl

(C) 22·2% HCl

... 
. 

(A) 63·5ID1'm1TT

(C) 96500ID1'ofin 

(B) 36% HCl

(D) 20·2% HCI

(B) 31 · 7 6 !mJ 'ffiifT

(D) lOOmif 'ffiil'T

( 118) 

A charge of 96500 coulomb liberates . . . . . . . .. .. . . . from �e solution 

of CuSO 
4

.

(A) 63·5 gm copper (B) 31 ·76 gm copper

(C) 96500 gm 9opper (D) 100 gm copper

:q1H;;+;� � q)f �-f�ai;;+; � � 

(A) 
l 

�

A 

A l 

(C) l.A (D) 
A 

The cell constant of a conductivity cell is 

(A) 
l 

A 

(C) l. A

(8) 

(D) 

A 

l 

R 

A 

26. � Zn I ZnSO 
4 

11 CuSO 
4 

I Cu q)f � cti�;;+; � 1 · l 'ctlR t1 �ttcfil

�t

(A) Zn

(C) ZnSO 
4

(B) Cu

(D) CuSO
4

.

11. I 24 / A/XII-5005-(34/40) I Page 11 / 32 
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27. 

. 

28. 

{ 118 \ 

The electromotive force of the cell Zn I ZnSO 4 I I CuSO4 \ Cu is

l · l volt. Its cathode is

(A) Zn (B) Cu

(C) ZnSO4 (D) CuS04

3il4<11cfi(OI cf;i fl:t"ia Pit;e� � ?

(A) \m (B) �,�Pi4�

(C) 
' 3tFRql�s (D) '�(i;(<f>j 

Who gave the theory of ionisation ?

(A) Faraday (B)' Arrhenius 

'(C) Ostwald (D) Rutherford

��cfit�c6T���t 

(A) q(tH'j S:.�J.H4 �

(C).. . � s:_�q 1-1 � 

(B) �q� �qH �

(D) BPsti4�'l\

The rate of reaction of a substance depends upon 

(A) Atomic mass

(C) Molecular mass

(A) ( CH
3 
b CHX

(B) Equivalent mass

(D) Active mass

\ 24 / A/XII-5005-(34/40) I Page 12 / 32
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Which of the following alkyl halides is hydrolysed by SN 1
mechanism? 

(B) CH
3
CH

2
X

(D) (CH3 )3 ex

(A) �«lR.�-1 (B) �dl-1

(C) � (D) ffi

Chloroform on reduction with Zn and water· gives 

(A} Acetylene (B) Ethylene

(C) Ethane (D). Methane 

31. � � 911111� � � � ��< 31Tcffii� � c+i<,4' � t, en

'if=@T t

32. 

(B) � .. ff(-1

(D) �

When ethyl brom_ide is treated with dry silver oxide, then we get 

(A) Diethyl eth�r (B) Ethanal

(C) Ethane (D) Ethene

c4{_<:t>ltl � i 

(A} 3Hci CaC1
2 

� � H�l (!», � ZnC1
2 

11.ci � HCl 

�} · � Al Cl 3 
� � HCl (D) 3Hfst PdCI 2 � � HCl

! 24 / A/Xll-5005-134140, f Page 13 //32 
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[ 1 Ia l

Lucas rcagen l is 

(A) Anhydrous CaC12 and cone. HCI

(B) Anhydrous ZnCI2 and cone. HCI

(C) Anhydrous Al Cl 
3 

and cone. HCI

(D) Anhydrous PdC12 and cone. HCI

33. •-2-31TR°t�

(A) Sli�J.40 Qf<t>l�Tct (B) ijchos{l ��Te1

�· l�h�{l (t@.hl �Tct . (D) sl��l��c6 ({�(?lcl

Butan-2-ol is a· 

(A) Primary alcohol (B) Secondary alcohol

(C) Tertiary alcohol {D) Dihydric alcohol

34. f?lq�fuia � -a � l�h,o Qf<if,l�Tcl � ? .

CH3. I 
(A) CH

3
CH

2
0H (B) CH3-9-o_H

CH2CH3

CH3CH20H I 

(C) I (D) CH3-9-c�oH
CH20H 

CH2CH3 

Which of the following is a tertiary alcohol ? 

CH· 
I 

3 

(A) CH
3
CH

2
�H (B) CH-C-OH

3 I 
CH2CH3

CH3

CH20H I 

(C) I (D) CH3-9-ctt20H
CH20H CH2CH3

I 24/A/XII-5005-(34/40) I Page 14 / 32
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35. 

�/2-�-1-S11q-1Tt1

(C) 2-�-1-��Tcl

. . yH3

The IUPAC name of CH3-CH-Cl-½OH is 

(A) 2-methyl-1-propanal (B) lsobutyl alcohol

(C) 2-methyl-1-b\ltanal (D) None of these

. [ 1181 

36. �R.cfi � f9'i.t�f&a -q Pct;ec\; � ((tfllt$cl #11(1� � 61..fidl t ?

37. 

(A) PC1
5

(B) PC1
3

(C) SOC1
2

(D) Cl
2

With which of the following does acetic acid· no� forni acetyl 
chloride? 

(A) PC1
5

(B) PC1
3

(C) SOC12 (D) Cl2

�Zllfl�s �� 

(A� J:iG?fi4 (B) �

(C) � (D) a�ttfl-1

Acetamide is 

(A) Acidic (B) Alkaline

(C) Amphoteric .(0) Neutral

Page 15 / 32 I 24 / A/.XII-5005-(34/40) I 
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38. 

39. 

40. 

CH-3 
I . 

CH3-9- NH2 t �
CE3

{J\). Sll�Iill � 

(C) t�f4tt �

CH3

CH3 -y-NH2 is a
CH3

(A) Primary amine

{C) Tertiary amine 

{B) 

(D) 

{B) 

(D) 

ethosO � 

qqil•ltl � 

Secondary amine 

Quaternary salt 

[ l l 8 I

� � cf>l cW!l<lq;Tif � Q,Bf,1�TH1lf KOH� w.r Tlll � � iRID t 

{A) CH
3

OH (B) CH
3

CN

(C) CH
.,

CHO
., (D) CH

3
NC

Methylamine on heating with chlo_roform and alcoholic KOH gives 

(A) CH3.OH (B) CH 3CN

(C) CH3CHO (D) CH3NC

f.lqfetfuta it�� � t 

(A) C6H5NH2 (B) (C6H5bNH

(C) C2H5NH2 (D) (C2H
5
bNH

Which of the following is the most basic� 

24 / A/XH-5005-(31/401 
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{A) �14f:iq; lf.:q 
(B) 

. ' e�e4Filcf; �

(Cl qjOs'( <:{l{-1_� � � (D) 61�41.:if-t �

The. helical structure of protein is stabilized by which
following? 

(A) Ionic bond (B) Covalent bond

42. 

(C) van• der Waals· forces

Pi��f@a -ij � 4>\il�cm't-it i ? 

{Aj J�cf,lij 

(C) �

(D) Hydrogen borid

(B) »ifii:e

(D} � 

Which of the following is a ketohe�ose ? 

(A) Glucose (B) Fructose

(C} Sucrose (D) Starch

43. · Ai.t�f©a -ij � >1?.JIJ q;)fl "4rr � � i ?

(A) 

(B) 

(C) 

(D) 

H
+ 

CH 3 COOCH3 + H 2 0 -"'-=---➔ CH3 COOH + CH
3

0H

1 11s r 

of the 

Page 17 / 32 
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Which of the f�llowing is not a first order reaction ? 

(A) CH
3 C00CH3 + H2o 

1-1+ 

CH3 COOH + CH30H

(B) CH3C00C2H5 + Na0H ➔ CH3C00Na + C2HsOH.

(�) 2H202 ➔ 2H2o + 02

(D) 2N205➔4N02 +02.

44. , � �dl� �c#a��wr �<ien ��i

(A) lttB �-1 �-1

(�} 1:ITT,-1 Bl" �-1 

The unit of rate constant of a second order reaction is

(A) mol L -l sec-
1 · 

(C) mol-1 L sec -I

(B) mo1-1 L -l sec-
1

(D) m�l L sec-I

I 11a 1

45. � � cfiT wr eiflen<o1 �� =kfH]1 12[BJ1 12 i, <1T � �

cfiTfz i

(A) 

(C) 

2 

3 
2 

(B) 
1 
2 

. . dx · k[H]l/2(B]l/2 
If the rate equation for a reaction 1s 

dt =_ , the order

of reaction is

(A) 

(C) 

2 

3 
2 

(B) 

(D) 1

-------------------r--'�---:Pµ;a�g;ell88/33�2 
I 24 I A/XII-5005-(34/40) t 
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46. 

47. 

48. 

�:S�<h � � "l=P:H-11q � �

(A) 

(C) 

x_=kpl/11 
m. 

xm =
k pl/n 

(8) 

(D) 

m 
k 

l/11 
-= . p
X 

X k 

m pl/n 

According to Freundlich adsorption isotherm

(A) �=kpl/n
(B) 

(C) xm. = k pl/n 
(D) 

�t 

(A� � -ij "Cfft� cmT. (B) 

(C) m-; -ij 'Cfft� � (D) 

Milk is

(A) fat dispersed-in water (B)

(C) water dispersed fn oil (D)

f;p.��fula -ij � &11�fq,fclc6 cblclT�s i ?

(A) � (B) 

!!!=k _ pl/n 

·X k 

m plfn 

qffl"q�-i@ 

cmr -ij 'lft&)m cim 

water dispersed in fat 

fat dispersed in fat 

Which of the following is a lyophilic colloid ?

r 11s 1 

. (A) Milk (B) Gum

(C) Fog (D) Blood

[ 24 / A/XII-5005-(34/40) l Page 19 / 32 
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(G) CuO

[ 118 ] . 

�1.t1f.lii1 � 3Nl�'1 -ij f.19f�fad -ij � 7-kSl(c6 cf;l atic(j'f 

(8) F'e + Mo

(D) Pt

Which of the following catalysts is used in the manufacture of 
ammonia by Haber1s process? 

(Bl,( }:i'e + Mo 

�) CuO (D) �

so. Ru.,�-1 ��Ch! %Ra � -ij � � f.:Mm t, � ·t 

(B) Pcl<!.if"tt-1 D

(D) �llftl� K

A vitamin which plays a vital role in the coagulating property 

of blood• is

(A) Vitamin A (B) Vitamin D

(C) Vitamin E (D) Vitamin K

51. ck-1llit414-T t �

(A) fg� �-1th4-ll {B) Q,i\�Rcfi 

(C) (}_41 cl Ji fB cf> (D) Q_t, q I �{fucf>

Chloramine-T is a/ an 

(A) Disinfectant (8) Antiseptic

(C) Analgesic (D) Antipyretic

I 24 / A/XII-5005-(34/401 I ,,.....,.,,, Page. 20 / 32 

Previous Pathshala



m [118) 
52. �1$&1Jl4 � GCff t �ijcfil 3q4'21 f.tI;c�ft§a � fctiE44i 'E11"1 q 'gt'ffl t ?

54 .. 

(A) qJlft41

(C) ef>l#t(I

Hydrazine is a drug which is used in the treatment of which of the

following? 

(A) Malaria (B) Typhoid

(C) Cholera (D) Tuberculosis

Which of the following is an 'alkaloid ?

(A) Nicotine (B) Atropine

(C) Cocaine (D) All of these

{4I;cfBf(§a � � Slli>Ric6 � t ? 

(A) 3ll��sft .. (B) ..,�?\iH;:t�e

(C) � (D) ◄cb�,��

Which of the following is a natural rubber ?

(A) Isoprene

(C) Polyethylene

(8)' Nitrocellulose 

(D) Bakelite
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57. 

{A) . � (8) e:t_ll:Si$-1
, 

A raw material used in making nylon is 

(A) ethylene

(C) adipi<? acid

(A) 

(C) 

(8) butadiene

(D) isoprene

(B) 

(D) 

.. 

F
2
C=CF

2 
is a monomer of which of th_e following? 

(A) Teflon (8) Glyptal

(C) Nylon-6. (D) Buna-S

tRr f;p.�R,if@a 1't � >fqTT{ ffi i-?

(A) J-l I ll f.l cf> ffi (B). 
. ....�hR-l l!l-.il cf> 00 

(C) �l�cf> ffi (D) . � "{eff' ..

Which of the following types of crystal is diamond ? 

(A) Ionic crystal (B) Covalent crystal ·

(C) Molecular crystal (D) Metallic crystal

1 24 / A/XII-500[)-(34/401 I 
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58. 

59. 

NaCl \tTI c.fiT €('i44l t

(A) t:i{cf>lUftq � � (B) t.fiHcb ifiRa €H lcf>1<

(C) qrf ij4c:IJ\q (D)' m 4->Ra £1-llcf>I<

The structure of NaCl crystal is

(A) Hexagonal close packing

(B} Face centred cubic

(C) Square planar

(D) Body centred cubic 

Ptl:iR-!fula -ij � (ql�-1 offi_�? 

(A) �- (B) �q:;1��

(C) �� (D) 
.. 

� 

Which of the following is an amorphous solid ? 

(A) Diamond

(C) Common salt

(A) 6

(<y' 8

(8) Graphite

· (D) Glass

(B) 4

(D) 12

I 11s I 

An octahedral void is surrounded by how many spheres ?

(A) 6

(C) 8

(B) 4

(D) 12

[24/A/XII-5005-134/40) I 

 

�age 23 / 32 

Previous Pathshala



61. 

�t?· 

(A) 
' 

Jilcl(dl (B) .:nifetdl

(C) 'btifcldl (D� iik1{-idl 

Which of the following modes of expressing concentration of a 

solution does not depend upon temperature '? 

(A) Molarity

(C) Formality

. ) 

. (�) Normality 

(D) Molality

(C) CHC1 3 clmC 2 H 5 OH (D) CHC1 3 �CH 3 COCH 3

Which of the following show positive deviation from Raoult's law ?

(C) CHC1 3 and C2 H 5 OH (D) · CHC1 3 and CH 3 COCH 3

63. � �c1l4-1 � 4tmtoft � cn1 f.li:.:iR-tf©a :ij * � �iflc+,<01 �mu�

��t?

(A) 

(C) 

1t= CR 
T 

CT 
7t-=-

N 

(B) 

(D) 
RT 

lt=-

c 

-
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64. 

65. 

[ 118] 
The osmotic pressure of a solution is represented by. which of ·�e

. . .': 
following equations ?.

(A) 1t= CR

T 

(C) 1t= CT
R 

(A) � Ag
2

O

: (C) ·� ZnO

.(B) •

(D) 

.lE.= RT 
C 

1t= RT . C 

(D) � ZnO

Alkyl halides form ethers by reacting with which of the !allowing� 

(C) Dry ZnO 

OH 

(8) Moist Ag 
2 

0

(D) Moist ZnO .

CH3-6H-CH2-CHQcfiT IUPAC � t

(�/ 2-61$it«Aflaj•1'H (8) 3-61$i}cffft�"1 IH
/' 

(C} 2-61$itq:J1silq-11H (D) ����

OH 
. I 

The IUPAC name of CH3-CH-CH2-CHO is 

(A) 2-Hydroxybutanal (�) 3-Hydroxybutanal

(C) 2-Hydroxypropanal (D) None of these .
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(A} lfilnfch � q;f 

(B} �lfilif q;f 
·.

(C) 40% � � -ii�4 � �

(D) q 1uq:;141?se:;1�:s cfiT

Formalin is the eommercial name .of 

(A) Formic acid

(B} Fluoroform

(C) 40% aqueous solution of methanal

(D) l:'araformaldehyde

67. � Q.Pse:t,�:s � &1,ctdt<+i<01 � >lrn mm t

(A) "Q_cn ��ff("j (B) 

(P
r 

"Q_cn � (D) 

An aldehyde on oxidation gives 

(A) an alcohol (B)·

(C) an ether (D) 

(A) q;1rf@5�1�-$ «

(C) · {(�1?.19 "8

� 4;1i1-1 

�� 

a ketone 

an acid 

[ 24 / A/XIl-5005-,34/40) I 
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Chloretone is formed when chloroform reacts with

(A) Formaldehyde ·

(C) Acetone ·

(A) CnH2n+20

(C) CnH2n°2

The general molecular 

.-:acids is 

(A) CnH2n+20

(C) CnH2n02°

(A) ��fge �-

(C) llcl4cf>T�

(B) Acetaldehyde

(D) Benzaldehyde

(B) CnH2nO

(D) CnH2n-+·I02

formula of saturated 

(B) CnH2n O

(D) C�H2n+1°2

r 
q;��,, �

(D) fll�l!'i cif l�cfilql�l

( 1 �8 J .

monocarboxylic 

By which of the following formic acid and formal?-ehyde can be 

distinguished ? 

(A) Bcncdjct solution (8) Fehling solution

(C) . Tollen's reagent (D) Sodium bicarbonate
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� - 1f / SECTION · B 

� 3'1.04·1'R I Short Answer Type Questions

'111:r N&ll l 'ff' 20 M![ artnt/ t { � lo 'RT-if � TTf( � I Rf4c6 c1i �

2 3ict; � f : 10 >< 2 = 20

. ' 

Question Nos .. 1 to 20 are Short Answer Type. Answer any 10 ques�ons.

Each question carries 2 marks : 10 x 2· = 20

· 1. 

2. 

3. 

4.

5.

6. 

2 

Which is Rosenmund reduction ?

2 

How is polypeptide bond formed ?

2 

Arrange F 
2

, Cl 
2 

, Br 
2 

and 1 
2 

in the increasing order of electron

affinities. 
Kr ( z = 36 ) � Xe ( Z = 54 ) cfi'T ��cts;'fPtq; ��,e fR@ I 1 + 1 

Write the electronic configurations of Kr ( Z = 36) and Xe ( z = 54 ).
DNA f4>11<fsifl11 cf;t 3q�)ftla1 <lfiT ffl �I 2

Discuss the utility of DNA fingerp�inting.

. (ii) {-tliFH «1§.�cfi I

[ 24 / A/XII-5005-(34/401 I 
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Give one example of each of the following : 

(i) Synthetic polymer
. 

. 

(ii) Condensation polymer.

7. · � t � 3P-H47 � � � � fffii I 1 + 1 

8. 

9. 

Write the names and formulae of two ores of iron.

�f'ilf44li mg t f:ttic+;�uj � s614lell�l Ji�� q;y 3441Ji � � � i ? 2 

Why is cryolite ore used during the extraction of Al metal_ ?

2 

What are network solids ? Give an example; 

2 

What is Schottky defect? Explain with example. 

2 

What is mole fraction ?

-2

Write Raoult's law of relative lowering of vapour pressure. 

2 

Discuss electrochemical principle regarding rusting of iron. 

2 

What is the effect of dilution on molar conductance ? ·
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. 15. \flRl<l, �!(flqOf 3ltt {IBP-tf:i<t> � -q � 3lcR � � ?

{ 1_18] 

2 

. hysical adsorption and
What are the main differences between P 
chemical adsorption ?

. 16. �13.:ft ttfu � t?

What is Brownian movement ? 

19. 

What is carbyl amine reaction ? 

(i) 

CH3 
I 

CH-C-CH OH 
3 1 . 2 

CH3

(ii) 

OH 

CH3-6H-CH2-CJ-½-OH 

Write the IUPAC names of the following compounds 

(i) 

CH3 

CH3-9-c�OH 

CH3

(ii) 

OH 

C�3-6H-C!-½-CH
2

-0H 

Why do transition elements form complex comp�u d . . . n s? 

2 

2 

2 

20. � q{£1i� � (EAN) � oq1&u �I
2 { 

Explain effective atomic number.

--------7c�2§42/�Az1x�n�-s�o�o�sG-(�34�/�4o�,Jr-------::------ 1 
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<ftq 3'i-H�Q � / Long �swer Type Questions 

3 X 5 = 15 

Question ·Nos. 21 to 26 are Long Answer Type Questions. Answer any 

3 questions. Each question carries 5 marks : · 3 x 5 = 15 

-

• I 2 + 3 

,� ' . 

·what do you understand by rate of a reactio·n ? What factors affect

the rate of a reaction ? Discuss.

What is soap ? How- does it act in the cleansing of clothes ? 
. 

. 

. 2 + 3 

3+2 

Write the principle of manufacture· of ammonia by Haber's process .. 

How does it react with CuSO 4 solution ?

5 

, How would you distinguish among primary, secondary and tertiary 

alcohols? 
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(ii) 

Explain the following with examples: 

(i) · Aldol condensation ·

OH 

(i) . CH3-6H- �OOH

Cl 
(iii) Cl -_CH-COOH

0 
(v) CH -l-cH -COOH3 . 2 

(ii) 

(ii) 

(iv) 

Write IUPAC names of the following 

OH 
I 
I 

(i} CH3�CH- COOH 

Cl
I 

(iii) Cl-CH-COOH

0 
. .

(v) CH3-l-CH2-COOH

(ii) 

(iv) 

Cannizzaro 's. reaction.

5 X l 

yH2-:CC0::
CH2-C00n

CH3-CH=CH-COOH 

. 

yH2-COOH 
CH2-COOH 

CH3-CH=CH-COOH
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